
PREPOSITIONS 

Practice Set-1 

Choose the correct Prepositions to complete the sentence 

Question:1 

My cousin has invested a lot of money _______ farming. 

(A) into  (B) in 

(C) on  (D) for 

Question: 2 

It is dangerous to enter ___ the enemy’s camp. 

(A) through  (B) on 

(C) in   D) into  

Question: 3 

A good judge never gropes _____ the conclusion. 

(A) for   (B) to 

(C) at   (D) on  

Question: 4 

Religious leaders should not delve _ ___ politics. 

(A) at   (B) in 

 (C) into   (D) with  

Question: 5 

India is committed ____ a policy of peaceful existence. 

(A) of   (B) to 

(C) with   (D) for 

Question: 6 

Raman’s speech pointed  some of our defects. 

(A) to   (B) at 

(C) on   (D) towards  

Question: 7 

My relations _____ Suganya are good. 

(A) against   (B) with 

(C) on    (D) to  



Question: 8 

Siva has no control _______ his temper. 

 (A) at   (B) in 

(C) over   (D) after  

Question: 9 

I am used _______ such hardships. 

(A) at    (B) to 

(C) for    (D) from  

Question: 10 

I was astonished  the sad news. 

(A) to   (B) at 

(C) with   (D) in 

Question: 11 

Jaganathan is married _______ Bobby. 

(A) to   (B) at 

(C) between  (D) with 

 Question: 12 

Suresh’s mind was attuned  ________ music. 

(A) at   (B) on 

(C) with   (D) to 

Question: 13 

The principal called ________ the names of the winners. 

(A) for   (B) out 

(C) on   (D) at  

Question: 14 

He was vexed ________ Saran for his behavior. 

(A) at   (B) to 

(C) with   (D) upon 

Question: 15 

Prasanna is confident ________ his success. 

(A) of   (B) towards 



(C) for   (D) about 

Question: 16 

A good judge never jumps _______ the conclusion. 

(A) to   (B) for 

(C) on   (D) at  

Question: 17 

He has suffered heavy losses, yet he was rolling ______  wealth. 

(A) for   (B) in 

(C) with   (D) from 

Question: 18 

In the morning, I simply take a glance ______ the newspaper headlines. 

(A) at   (B) on 

(C) of   (D) through 

  

Question:19 

He dispensed with the services ______ his dishonest clerk. 

(A) of   (B) by 

(C) for   (D) to 

Question:20 

Sugan’s story is devoid _______ truth. 

(A) of   (B) to 

(C) from   (D) through 


